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Respondent 31 v Time to complete: 10:24 Points: 270/300

1. dydlg dusdl W Sl dwlyyy aigy sl sl 2 /2pts
lgy dbo=wadl The science concerned with studying the Auto-graded
relationships between living things and the surrounding
environment

<LV Biology
dill Ecology v

clacll caslls g physiology

il pUsil Ecosystem

2. s plaj L__si o @l bVl Living things in any 2 /2pts
ecosystem Auto-graded
s9x> Jole Biotic factor N

Sox> e Jole Abiotic factor

wiw Jele environmental factor

3. i psi sl o > uell SligSell Inorganic components 2 /2pts
in any ecosystem Auto-graded
4> e Jolge abiotic factors v

44> Jolge biotic factors

diw Jolge environmental factor

4. 1> Mole ud not biotic factor 2 /2pts

Auto-graded
8,ly=Jl temperature v

Olilga=dl >ae number of animals

dcloxll o> population volume



5. bgs> e Mole juud is not Abiotic factor
8,ly=Jl temperature
Lo gaxll Acidity

oazwss Ul duui Oxygen percentage

dcloxll o> population volume v

6. e 3Lzl s e lgiliug il o dumdl SN el
Living things depend on ..................... to be survival

4 gu=)| Jolg=ll biotic factors

4 gu=d| e Jolg=]l Abiotic factors

oo & guxdl jucq dygu=dl Jolg=dl both of biotic and abiotic v

7. > P8 8Ll acay dus)Vl S0l o o sl Any part of
the globe supports the life of an organism

il pUsil Ecosystem

iVl auls VI biome
Soxxdl olMsll biosphere v
L_JJLPSJI Relixall community

8. bo dahio (o daxll peg dxdl DligSall (e Joidy Includes
living and non-living components in a region

soxxdl oMl biosphere
il pUsill ecosystem v

&aizxall community
deloxll population

2 /2pts
Auto-graded

2 /2pts
Auto-graded

2 /2pts
Auto-graded

2 /2pts
Auto-graded



9. dilisl Ulelas oo dalixe glgil different species of living
things

ol pUail ecosystem

&aizxall community v

delozl population

soxxdl oMl biosphere

10. gudig oBedl Juai o Jiusd dsdl S o 1519 £9d
w9, 0]l One species of organism lives in the same place
and in the same conditions

ol pUsdll ecosystem

Ralizall community
delox| population v

Sgu=dl L]l biosphere

11. d6lisl dclas o 1>lg 346 only one living thing
deloxll population
alizall community

ol pUsdll ecosystem

ol il organism v

12. gadl GBIl lgue Jusy ddhiedl . its the area where an
organism can live

J el house
ol b gall habitat N

&8gall niche

ol pUsill ecosystem

2 /2pts
Auto-graded

2 /2pts
Auto-graded

2 /2pts
Auto-graded

2 /2pts
Auto-graded



13. ol 5Bl @ pgdy s3I Hgall the role of an organism

Jell house
wiwdl b gell habitat

&3 gall niche v

! pUsil ecosystem

14. 38V Wl 3200Vl o dJWI dyidl Sl giaedl i)y Rank the
following organization levels from smallest to largest

o=l 8l organism v
deloxll population v
&aizxall community v
ol pUsill ecosystem v
Soxxll o8Vl biome v
biosphere sgu=Jl o\l v

15. )3Vl o sudiuy LealMS uislS u d8)M=ll the relation
between two organism both are benefits

Jabill parasitism

d2aiodl JoW mutualism Vv

szl commensalism

wulyioVl predation

2 /2pts
Auto-graded

5 /5pts
Auto-graded

2 /2pts
Auto-graded



16. 3331 )iy lous Ladvas! audiuy uislS o @8MsJl The
relationship between two living things, one benefits and
the other is harmed

Jahill parasitism v/

deaioll JoWi mutualism
sul=il communsalism

oyl predation

17. 3331 i Vg il V lasd Ladsasl agdiuy (uislS o @8\
Jakill parasitism
d2aiodl JoWi mutualism

szl communsalism o

oVl predation

18. Slgiy g 13V1 (e ladssl (naidy (uislS o @8\l The
relationship between two objects that eliminate and
consume one another

Jahill parasitism
d=aiall JoWi mutualism

Jil=idl communsalism

oyl predation v

19. 3)lgall Canus gl adi e i il @Ml The relationship
that results from a lack or limited resources

Jabill parasitism
ous il competition v

szl communsalism

oVl predation

2 /2pts
Auto-graded

2 /2pts
Auto-graded

2 /2pts
Auto-graded

2 /2pts
Auto-graded



20. 45185 @M oy @l OsMsll 451 One of the 2 /2pts
following relationships is not a symbiotic relationship Auto-graded

szl communsalism
oyl predation v

d2aiodl JoWi mutualism

Jahill parasitism

21. duwliadl d8\Mell g 4 yizl select suitable relationship 0 /5pts

Auto-graded
Jol
L)*J |)I§| - - k.)i_l-."li.’. 3 . . | - Liijl

o9 0O O O O

2Vl
v, O ® 0 O O
e O O ® O O
JEYRRLS
=l

Lobally O O O @ O

J

oo yiSI
o0 o o O @
8 yzaind |

22. Which of these levels of organization includes all the 5 /5pts
other levels? &b giwed | d48y poundiy S| gl g Lo Auto-graded

individual >,all

population dclazll
ecosystemgdud| pUaill v

community gelizell



23. Which would be an abiotic factor for a tree in the forest? 5 /5pts
dyzid > jue Jole Auto-graded

a bird nesting in its branches lgde Liusi jgub

fungus growing on its roots &)gi> e godi DU oo

wind blowing through its branches lgc)sl ¢Jy=i 2l Vv

a caterpillar eating its leaves lgsl)gl JSU <lilys

24. The insect is gathering pollen and nectar for food, but at 5 /5pts
the same time is aiding in the plant’s reproduction. What Auto-graded
does this rela-relationship demonstrate? ;u ds\sll
Slidlg 13 g 8 il

predation _w l)isl

mutualism d=aio Joli Vv

commensalism iuylsi

parasitism Jahj



25. What term best describes the bee’s role of gathering 5 /5pts
pollen? J=il ;93J JioVl cangll Auto-graded

niche g8 g0l v

parasite Jabill
habitat ;b goll

predator Luwyiae



26. Which type of heterotroph best describes this snake? L__si 5 /5pts
o=l OBdgiwall o g4 Auto-graded

omnivore pg=Jg wuiie JSI

detritivore pw,io

herbivore wic JSI

carnivora pg= JSI v
27. How does energy first enter a pond ecosystem? cauS 5 /5pts
ol pUail aslall J5a3 Auto-graded

through growth of algae =]l JAs
through light from the Sun juesid! JAs (10 v

through decay of dead fish ¢Jlow VI J=i oo

through runoff from fields Jga=Jl (o L=l oo



28. Which statement is true about energy in an ecosystem? 5 /5pts
i ol o Bl aumuall cangll Auto-graded

Energy for most ecosystems originates from the Sun. Le_L.oi

aJl v

Energy most often is released as light from an ecosystem. aiij

il cs) @l g

Energy flows from heterotrophs to autotrophs. o Jaiii
ol (I cllgiuall

Energy levels increase toward the top of the food chain.go 1435
wilidl sgtuadl 8503

29. What does the illustration represent? 5 /5pts
M o Auto-graded

-
g WARN
< Grasmwc% . .m
‘\ \ "I

Beetle v

Ciass

a food web dilie aSud v

an ecological pyramid il o]l

food chain dlie duwlw



30. Which organism in the illustration is an autotroph? ;o L__Si 5 /5pts
il Wl SlisBII 83 Auto-graded

fox =il

frog grauall
grass cuisll v
grasshopper >|)=l

31. Which is a detritivore? Glewyiedl (1o 5 /5pts

_ Auto-graded
sunflower ueuid! gl

cat hall
crayfish ol v
mouse ,lall
32. What is the name of the process in which bacteria and 5 /S5pts
lightning convert nitrogen into compounds that are Auto-graded

useful to plants? juzgyuidl Jugxi piy V5 o Ul ddeas
SUlg b ,yisl dbhawlgy plazxiwl) dLls 890

ammonification WigoVl (¢33
denitrification ¢u>giuidl dljl

nitrate cycling ;u>g)iill 395

nitrogen fixation u>gyuill Sy v



33. What are the two major life processes that involve
carbon and oxygen? ;ouali il duwlud! Sldesll

03ly Guzwsdl

coal formation and photosynthesis (Jgall il g pxall 4S5

photosynthesis and respiration glzl juaiily dgaadl <lidl v

fuel combustion and open burning &ily=llg dg54)l §lyi>l
isaiaall

death and decay JIxilg Kgoll

34. Which process locks phosphorus in a long term cycle?
bz digh G8g) Slawgall 910

organic materials buried at the bottom of oceans >lgoll (10
Slbuzall €15 o & guansll

phosphates released into the soil & il ;o a5\l

animals and plants eliminating wastes SULAWI G\as (0

Slilgazdly

rain eroding mountains Juzl) jUo Ml & y=i o v

35. Which would be considered an ecosystem? yisy sl bo

bacteria living in a deep ocean vent buxoll Goc o jiusi b iy

biotic factors in a forest &le o @l Jolg=ll

living and nonliving things in a pond 6 @l jucq duzdl clubll
cbo &Sy

populations of zebras and lionsduit> gl jazdlg 3gwll o Ulcla>

36. the total mass of organisms at a trophic level dliS
wilie Sque o daxdl ol

niche g5 g0l

trophic level Jlis]l s giuall
biomass 4 gu=Jl dlisUI v

biotic factor ¢gu=ll Jo =l

5 /5pts
Auto-graded

5 /5pts
Auto-graded

5 /5pts
Auto-graded

5 /5pts
Auto-graded



37. Which statement best describes a biogeochemical cycle? 5 /5pts
dilesS guzqull Olygol) ool cangll Auto-graded

A cycle that recycles chemical elements and water.cloJl j) 935

A cycle that continuously cycles chemical elements and
water.d lousJ! .\|9,o.”3 clol) _),QJ.uJ.o“ )._1_3_).1'.”

A cycle that continuously cycles chemical elements and water

dumd] OB lgzizg il Slgal) yaisall 4y gaill

d. A cycle that continuously cycles chemical elements and

water that are needed by organisms through an ¥
ecosystem.du=dl SLISJI lg=lizy Ul dlgally clod) yoiuall yy gaill
o2l allg &l go

38. The relationship between condensation and precipitation  Ppoints /5 pts
is that Jgbgllg i8Il o dsM=ll

a. precipitation needs to occur prior to condensation. Jghgll

b. condensation needs to occur prior to precipitation. ajlsil

Jobgll s Saxy
c. both are parts of the water cycle. cloJl 8,93 0 cj> Lo S

d. both b and c describe the relationship. ;o MS bgC dou=no

39. The best description of the relationship between runoff 5 /5pts
and groundwater is that ;,U > Guds\sll Juasll cangll Auto-graded
416 9=l Blall g clall

a. runoff turns into groundwater. 8ol (JI iy cladl b=

RPN

b. groundwater turns into runoff. ;U =l (JI e ii s g=ll 8lell

c. both result from precipitation and may end up in bodies of
water. 8kl gaxi) gblio go oluisus Jsbell oo wili Laa s



40. Nitrogen fixation :yuzq | Cuudi 5 /5pts

Auto-graded
is the process of changing nitrogen gas to nitrates.a. ddoc (&

v
5 ] ezl Sle yusts
is the process of changing nitrates to nitrogen gas.b. dloc g&
o2yl jle Wl Sl jusi
is carried out by nitrogen-fixing plants.c. Jus ;o Wiaii ol
O_Ps "". l "....'. II CJU‘[J:J..JL
naturally occurs in the atmosphered. ¢ &azy b JSuiu
Soxdl el
41. In terms of carbon and the atmosphere, autotrophs o 0 /5pts
0587 il aild Sl isgzdl wlsllg g1l Cus Auto-graded

remove carbon through photosynthesis and release carbon by
cellular respiration. a. (Jgall Juieidl JUS o 9,1 dljl v
el puaidl Gayb pe sl GVblg

remove carbon through cellular respiration and release carbon
by photosynthesis.b. §lblg gzl juaidl JUs o gyl dl3l X
el Jiiaill 3235 o2 oo

remove oxygen through photosynthesis but release carbon by
cellular respiration.c. ;,SJg wWigual Jyiadl JU5 o oz VI @3l
ekl puiiill gayb e o8l oe 2ol

only remove carbon through photosynthesis.d. ;) gs,SJI dl;| bhas
sl Jyiadll JUs go.

42. Which statement is correct? (& duuall dozll 5 /5pts

) . Auto-graded
Nitrogen must cycle through an ecosystem because it is used

to make proteins and nucleic acids. a. yc uz>gyuill you L-,i sy
& ggill yolasVlg Slisigyl gina) paziuy GY iy oUsi

Nitrogen makes up most of Earth's atmosphere.b. ;=g ,uill
o)W ezl oMl abrme JSuin

Nitrogen gas from the atmosphere cannot be used by plants to
make organic compounds.c. N gzl oMl (o cuzgyuill jle
dgiae DSy ghad SULUT LS go dolasiul oSy

All are true dousuo @IS v


Admin
Highlight


43. Which statement is correct? (& duzuall dozll 5 /5pts

Auto-graded
Fossil fuels can store carbon for millions of years, and release

carbon when burned.a. ;51,SJl 335 )55Vl 3g56l) Sy v
48y> e 51yl GMblg il G,

Fossil fuels can store carbon for millions of years, and release
oxygen when burned.b. ;a1,S)l (335 )88V 3g8gl) Sy
48)> ade S Ul 5\Mblg | Gulle)

Fossil fuels can store oxygen for millions of years, and release

carbon when burned.c. juzuwS VI o335 )88V 348l (Say
4> sic el GVblg il G,

Fossil fuels can store nitrogen for millions of years, and release

nitrogen when burned.d. juzgyiill o133 oSey )gaxUl 3456]l
lg8y> sic guzgyuill GMblg «uind] Gullel

44. Which of the following would NOT be a community? sl 5 /5pts
¢ Raixo 550 o NI o Auto-graded

All the plants, insects, and soil in your back yard.a. SULI gre>
b poll alzdl cliadl o )il Olninsdlg

v

All the many varieties of dogs in your neighborhood.b. gro>
pSiddnio (6 QMSII oo 8,08 Elgil.

All the fish in an aquarium.c. clawll yog> w6 lawll JS.

45. Community interactions include ;u OMclail Jouis Points /5 pts
du=dl S

predation. ulyis\I.
competition. _uslidl
symbiosis. Js Kl

all of the above. &= lgIS



46. Which is an example of a predator-prey relationship? b 5 /5pts
Sduw yallg juyiaell d@8Me Je JUadl g Auto-graded

The relationship between a duck and a pond of water. a. ds\l=J|
clodl o &Sypg dbdl .

The relationship between a lion and a zebra.b. 1wVl oy 48]l
gl ) lazdlg.

The relationship between a bee and a flower.c. d=ill u ds\=ll

The relationship between a hen and a rooster.d. ;u 4\l
cballg d>lall.

47. The main difference among the types of symbiotic 5 /5pts
relationships is ga ausSill SNl glail Gu iyl §yall  Auto-graded

how many species either benefit or are harmed?a. glgilll sac oS o
o of sudiu il

how many species are eaten?b. $JS&i il glgilll sac oS

how many species are protected?c. §duaxall glgilll ac oS

all are true
48. rain, snow, sleet, hail, or freezing rain 3,1 ol &l gl Joall 5 /5pts
Jozxiall _)b..o.” 9| Auto-graded
evaporation il
precipitation Jglogll v

condensation ajlsil

groundwater a6 gl 8ol

49. occurs when plants release water vapor through leaf 5 /5pts
pores SULI (o cladl y2uiy loaice Soxy Auto-graded
evaporation il
precipitation Jglogll

condensationcajlSil

transpirationgziil v



50. occurs when water on the surface changes to water
vapor )l Wl cladl Jg=xii boaic Soxy

evaporation il v

precipitationglogll
condensationcajlSil

transpirationgiil

51. the process in which water vapor changes to tiny
droplets of liquid water (JI clodl jlu Jg=i il didos]l

clo L_JI_)b_Osl dlilw 0)gu0
evaporation il
precipitationglogll

condensationcajlsl v

transpiration zil

52. cycles that recycle chemical elements and water needed
by organisms

biogeochemical cycle v

nitrogen cycle
condensation

transpiration

53. moves nitrogen back and forth between the atmosphere
and organisms Ol gzl oMl u gyl 45>
=l

nitrogen cycle ;u>gyuil 8,9
groundwater dus gzl 8Ll

water cycle cloJl 8,9

carbon cycle ;1,31 8,92

5 /5pts
Auto-graded

5 /5pts
Auto-graded

5 /5pts
Auto-graded

Points / 5 pts



54. the process of changing nitrogen gas to nitrates diloc 5 /5pts
S Gl s gyl Ju g Auto-graded

nitrogen cycle ;u>gyuil 8,9
nitrogen fixation (u>g)uil Gy v
denitrification gl dljl

carbon cycle ;gu,31 8,9

55. the process of changing nitrates to nitrogen gas J g=i 5 /5pts
=9 \___,\J| CJ|_).'J'.1J| Auto-graded

nitrogen cycle ;u>g)uil 8,95

nitrogen fixation =gyl Cuudi
denitrification =gl dljl v
carbon cycle ;91,31 8,92
56. The area between the highest mountain and the deepest 5 /5pts

ocean where life can be found Ju> dos del o dalnioll Auto-graded
8li> 1267 Cus bhuzall (w6 dhidi Gaclg

Biosphere sgu=l wollsll v

Biome & gu=Jl dahnioll
Farm dc)joll

Ecosystem (! oUAiI

57. Example of a decomposer &Mxall e Jlo 5 /5pts
_ Auto-graded
mouse Ll
fungus &l yhall v
plants &Ll

frogs galaall



58. All food chains begin with a w T d@slisl! JawMudl

primary consumer JoVl ¢llgiuwall

secondary consumer il cllgiuiall

producers aiio v

scavengers owoyio

59. Photosynthesis and respiration are important because
uuy Gloge wigadl clidl juaiill

they make mutualism possible dsaia)l JolWi OMe lgSy

they are the building blocks of life L=l juwlwl gy X

they are the 6 characteristics of life &l 3Lzl yailos

they cycle matter and energy between autotrophs and
heterotrophs dSlgiually dxiied] SUWEII (u dsladlg Sladl ly93u

60. Another name for a consumer is a il (ouuoll

Lol

heterotroph &3l 413 e Vv

autotroph &isidl dls

producer Ulxiie

61. Trophic Levels show the zbogs ilisdl $giwall

what grade each organism has achieved in the ecosystem Lo
il plaill b > 318 JS Loda> (pill d2)all aa

position that an organism occupies in a food chain - what it
eats, and what eats it duulw o (> P dsiy sl wdgall v
Sk og Sk Lo- duilic

part of the triangle the organism likes the most dliedl (1o cj>
ol iU

elevation the organism likes to live in =l (58I glagl

5 /5pts
Auto-graded

0 /5pts
Auto-graded

5 /5pts
Auto-graded

5 /5pts
Auto-graded


Admin
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Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight


62. Which level would have the most biomass? g Lo 5 /5pts
Sdy gzl il o a8 _,.15| d eSuw sMI sgiwall Auto-graded

Primary consumers - herbivores wlic\| AT JSSJI

Secondary consumers- carnivores SAST - o ¢l (uSlgiall
po=ll

Producers ;,gxiioll v

Quaternary consumers- Apex Predators - gilJI cllgiuell
oo yidall

63. When many food chains link to each other in an 5 /5pts
ecosystem, it is called a(n) dayac dijlic Juwlw buiyi baic Auto-graded

ade glby i plbi o ol lposy

food chain dulie]l dlwduwdl
food web duilis]l daSuidl Vv

Habitat ;b goll
Trophic levels (Jlisdl s giuall

64. Only _ % of energy gets passed on from one trophic 5 /5pts
level to the next d&slb $giwo o Jaii il dasladl dueS Auto-graded
ay sl I

5%
10% v

20%

50%

65. In the carbon cycle, organisms exchange ___ with the 5 /5pts
atmosphere Jaw =l G581 guy8d1 8)9> 6 Auto-graded
ozl Wil go

carbon dioxide ¢gu,SJl 3pwS| il v

oxygen ;xS\l

nitrogen  u>g,iill



66. How is carbon released from calcium carbonate? 4o 5 /5pts
o8Il Slig)S o ol =i Auto-graded

by a process of erosion & )=l Sldesy v

burned as fossil fuels 3454Jl §,>

by a process of diffusion ;LML

by decomposition juwsil
67. How nitrogen is "fixed" into usable form for plants... caiS 5 /5pts
) p|.).mm' Ll duls 5_)940.] upg_pu.“ JJSRJ vy} Auto-graded
oz gyiull)

through action of bacteria only lbds U yiSW! douulgy
through lightning only lhas gl

through photosynthesis (Jgall <Ll

through action of bacteria & lightning ,dlg b Sl v

68. What is the main source of energy on Earth? ol 5 /5pts
ol e aslbl) Gyl Auto-graded

the sun Gueuidl v
plants &Gl

consumers ;gS)giuell
producers ;) g=iioll



69. this image revers to J| yuid adlll 3g.0ll 5 /5pts

, Auto-graded
Marine Food Web

I Ianc.et fish

squid
mackerel
d
- )
amphipods : ocean
J ‘wnﬁsh
copepods
shrimp ,""""}
3 pteropods
{ ./-_
diatoms
dinoflagellates \ /'
Energy from Sun
food web dilic aSub v

food chain ddlie duwlw

Habitat ;b goll
Trophic levels (Slisdl s giuuall



70. this image reveres to Jlyuii 890l 5 /5pts

Auto-graded

Grass » Grasshopper q Mouse ﬁ Owl
food web dulis]l daSuidl
Relationship GWKJI o SlsM=ll

Habitat ;b goll
food chain dslie]l duwdudl

71. this image reveres to 3 /3pts

Auto-graded

pyramids of numbers >lacVl o)

pyramids of biomass & gu=Jl dlisJl oy

pyramids of energy dslall oy



72. this image reveres to 2 /2pts
Auto-graded

Top Carnivore

pyramids of numbers >lacVl o)
pyramids of biomass 4 gu=J| AisJl oy N

pyramids of energy dslaJl o)



73. this image reveres to 2 /2pts
Auto-graded

' Energy
Lost As
Heat

Third Level Consumers

Secondary Consumers

Primary Consumers

Primary Producers

R led
V Energy

Pyramid

pyramids of numbers slacVl oy

pyramids of biomass & gu=Jl dlisJl oy

pyramids of energy d&slall o) v




Respondent 19 v Time to complete: 03:45  Score: 100%

1. name 0 /Opts

Medhat Elmaghraby Auto-graded

2. school 0 /Opts

Auto-graded
Alsammaliya uto-grage

3. Which would represent a population? psi (JUWl Jozdl sl 0 /Opts
delos e Auto-graded

All the fish in an aquarium. g1 651 w6 clow! glgil JS
All the dogs in your neighborhood. ddhiell (o Ml gra> v

All the animals in the local zoo. daya=Jb Slilgu=dl JS

all of the above

4. The age-sex structure of a quickly growing population 0 /Opts
would probably have goill cany I Spasdl sl Auto-graded
deloxl) gy yudl

a wide base, showing many young individuals. day jc 81cls
udl o dac o 8559

a wide top, showing many older individuals. 4oy yo Syl dos
ol HLS 8y o gi

.a wide middle area, showing many middle-aged

individuals sl (douwgie 8,18 zuo gy JSuidl cuaiio

all of the above



5. Population growth can be represented by the equation r

= Guxb e gaill Jame wlws Sy

b=0loVgll Jase e=duz) sl 8yxg)l d=Slog)l Jase i=dudslall 8yxgll

(b+e)-(d+1i)
(b+i)-(d+e) Vv

(b+d)-(i+e)

d+1i)-(b+e)

6. During exponential growth, wll gaill <Ll

population growth eventually slows and population size levels
off.dclozl| px> 4840 g godll Jamo Joy

as population size increases, the growth rate also increases. go
goddl Jazo iy WilimsVl deloxdl o> 850 )

all of the above

7. exponential growth shape ,> JSuis e wll gaill Jioy

J v

8. The carrying capacity of a population dyulsyiw)l §,1a]l
declox

is reached as resources become limiting. boaic gl Jgogll

83930 3)lgadl 93

is reached at the end of exponential growth.d;lgis ledl Jad
wll gadll

is reached in r-selected populations. dxyilyiwl 6 5955 1

is reached when the environment begins to be harmed g JoJ
)L dudl 655 beaic

0 /Opts
Auto-graded

0 /Opts
Auto-graded

0 /Opts
Auto-graded

0 /Opts
Auto-graded



9. Which of the following are examples of density-
dependent factors? (1) food, (2) disease, (3) rainfall, (4)
temperature. -1 &USJl (e aaisy Jole (Ll o
)=l -4 jUoo)l -3 o yell-26le ]l

1 only
1and 2 v

1,2,and 3

1,2, 3,and 4

10. When organisms must compete for resources, they will

usually have a distribution. juws iy loaic
L5167 baad 954 390 oo LIS
uniform alAiie

random (Jlguirc
clumped JLisi v

competitive s lii

11. how fast a population changes in size over time zb gy
U8ll o deloz px> pugi dcyw

emigrations =gl
Q)=

immigration dudslaJl 3,=gll
population growth rate delox| goi Jaseo v

population density dclazl d5liS

12. leaving the population for another area dclozll 8y3l20
e

emigrations =gl
Q)

immigration dudslaJl 8y=gll
population growth rate deloz| goi Jaso

population density dclazl dsliS

0 /Opts
Auto-graded

0 /Opts
Auto-graded

0 /Opts
Auto-graded

0 /Opts
Auto-graded



13. coming into the population from somewhere else JgaJl
aplsl dcloz

emigrations =gl
CVERIES]

immigration dudslaJl 8y=gll v

population growth rate dcloz| goi Jaxo

population density delozl doliS

14. the average number of individuals in a population per
unit of area or volumeda>g e S0Vl dae u duudll
d>Luwol|

emigrations,=gll
CIERIES]

immigration duslaJl 8y=gll

population growth rate delox| goi Jaseo

population density delozl doliS v

15. the largest population size that can be supported in an
area without harming the environment sx=J >3c S|

1o 099 lgac digdl g Gl a5zl delazl
carrying capacity dulsiiw)l 8,38l Nz

exponential growth (wil gaill
K-selected dyzuilyiwl

r-selected du=uilyiwl

16. population growth under ideal conditions dcloxl| g0l
ddliadl ooyl iz dilis )

carrying capacity dulsuiw)l §)18]l
exponential growth GwVl gaill o

K-selected dumyilyiwl

r-selected dyzuilyiwl

0 /Opts
Auto-graded

0 /Opts
Auto-graded

0 /Opts
Auto-graded

0 /Opts
Auto-graded



17. species whose population growth is controlled by 0 /Opts
density-dependent factors swisell Joledl oSy il g gl Auto-graded
delozdl goi o d0USIl e

carrying capacity dulsiwl| 8,38l

exponential growth wVl gaill
K-selected dumil yiwl N4

r-selected dusyilyiwl

18. species whose population size is usually well below the 0 /Opts
carrying capacity 8,38l cuxi deloxdl px> (950 sl g4l Auto-graded
dwl=uiw

carrying capacity dulsutw)l 8,38l
exponential growth GwVl gaill

K-selected du=uilyiwl

r-selected dyzuilyiwl N4

19. population growth under limiting conditions 0 /Opts

) Auto-graded
exponential growth GwVl gaill

logistic growth (iwuzgll gaill v

population density ds sl

population pyramid dclo=l o)



20. Which population growth model does this graph 0 /Opts
illustrate? JSuidb aogell gaill €41 Auto-graded

Population Growth

10,000

8000

Population
:

1 3 5 7 9 11 1315 17 19 21 23 25
Time peric!

exponential growth (aw)l
lag phase gblil j4b

logistic growth (wu=gll v

straight-line growth pudiuuell ozl goi



21. What is the horizontal line on this graph called? Jioy I3l 0 /Opts
8ol bl Auto-graded

Population Growth

10,000

8000

Population
:

1 3 5 7 9 11 1315 17 19 21 23 25
Time peric!

carrying capacity dulsyiw)! 8,33l N

geometric growth (e guzdl goill

exponential growth cwll goill

straight-line growth ozl goill



22. What do the time periods 1-7 represent?3,iaJl Jioi 15l 0 /Opts
7T o Auto-graded

Population Growth

10,000

8000

6000

Population

|

1 3 5 7 9 11 13 15 7 19 21 23 25
Time pericd!

carrying capacity dulsyiwll 3,18l

geometric growth (e guzdl goill

acceleration phase ¢,lwil j¢b

lag phase §blil j4b v
23. If angelfish produce hundreds of young several times a 0 /Opts
year, which statement below is true? (il dozll o lo Auto-graded

boiw Olyo 83 Sliadl iz il JlawVl i
Angelfish have a k-strategy reproductive pattern. ;e il
dzililwl Guyb K
Angelfish have an r-strategy reproductive pattern. azuilyiwl r - v
Angelfish probably have a low mortality rate. &lsgll Jaso

Angelfish provide a lot of care for their young. 8ia (i
) oy loww VI



24. If an aquarium holds 80 L of water and contains 170 0 /Opts
guppies, what is the approximate density of the guppy Auto-graded
population? (alo (ug> @weuw 170 3>g1 i 80 pgu S| o
lowll deloz] Ly a7 dolisdl

T guppy/L
2 guppies/L v

3 guppies/L

4 guppies/L
25. Which is a density-independent factor? Jole (JUI o i 0 /Opts
s Usdl (de iy Auto-graded
a severe drought ayauidl laxll v

an intestinal parasite cleo VMl Oldab
a fatal virus Cuoo ugyuo

severe overcrowdingayauib bUAISI



26. Why is the life span of this finch with an eye disease 0 /Opts
most likely reduced?go ilnll 3 yoc Juldi o 15Le] Auto-graded
Yaz Ml e pusll yoyo

The bird cannot mate.z 13l gibiuy V U]l

The bird cannot find food or water.olelod| 3lsu| iladl gulniy M

. Vv
clol of.

The bird spreads the disease to others. ool JUadl jiniy
oW,

The bird cannot survive a temperature change. i)l gubnig
8yly=dl 45y i o Sl



27. Which is a possible reason for the relatively quick spread 0 /Opts
of the shown disease? ;o 0ll LV Joixedl cuwd! lo Auto-graded

G &yl

an abiotic factor Sgu> e Jole

a decreased food supply dilisdl Oislae )l jolaxil
increased population densitydclozl) dslisJl 850 v

increased immunitydceliodl 850

28. What is the dispersion pattern of herding animals, birds 0 /Opts
that flock together, and fish that form schools?loai ga Lo Auto-graded
ol dtmuills 2o goxii I jgubllg Olilguzdl ey Cuilind
S oyl el Ui

clumped JLisi
uniform alAiie

random (lguinc

unpredictableay g4l \Sou V



29. What is the projected population of developed countries 0 /Opts
by 20507 Jgl=u deadiedl Jgal) g8giall o Budl sac 9o o Auto-graded
$2050 ple

\ Distribution of Population Growth

-
-

High fertility ,
10 e
v o Average fertility , ’,' |
vl -
S 8 AT
E i e
e 7 (I S
c ‘Low fertility
L 6
©
= 5
a
2 4
- ; Developing countries
S
; 2 -- -
1 / .
1 Developed cc:untrles
0
1900 1950 2000 2050
Year
1.5 billion v
7.3 billion
9 billion.

10.5 billion



30. What is the approximate population difference between

developing countries that have low fertility rates and
developing countries that have high fertility rates in

20507 il dxoll ol oo oy ilSadl a0l g Lo

lorad il dxolill Jgally diisio dyg05 OYaso lgia)

$2050 ple (b dle dguns SV

_ ‘ Distribution of Population Growth

High fertility ,
10 -
Average fertili
9 9 ] W\ -
L L
S s W
a 7 e ]
p ,‘tLow fertility
=
o /
= 5
o
2 4 /
fl Developing countries
Ta 3
; 2 / - -
1 /
! Developed co|untries
0
1900 1950 2000 2050
Year
1.5 billion
3.2 billion. Vv
1.7 billion

9 billion

0 /Opts
Auto-graded



31. When did the human population begin to increase 0 /Opts
exponentially?$s oo JSuwiu 850 I (o Bl 13y Wio Auto-graded

| Human Population on Earth

2 :
1 : R
10 : — T
- 8 [ < < !
N 1 i
% ; Age | New Stone jAge @ nﬁ Ages| =
= e
<, ! | 2]
.:.: g ! \l Bubonic plague /
i sl Farming || Plowing and : “34?'_,1350} /
& begins i Irrigation begin | |
3 —: i Industrial Revolution begins 1
2 H s
I
1 —: ]
0 e
2millon 7000 6000 5000 4000 3000 2000 1000 CE CE CE
years BCE BCE BCE BCE BCE BCE BCE 1 1000 2000
Year
2 million years ago
6500 B.C.E.
1800 B.C.E.
1500 C.E. v
32. Japan had a birthrate of eight and a death rate of nine in 0 /Opts
2008. What was the PGR? ;LW w slgell Joaso o8 Auto-graded

S S|

0.01 percent

1 percent
-1 percent. v

-10 percent



33. Georgia, a country in western Asia, had a birthrate of 11 0 /Opts
and a death rate of 10 in 2008. What was the PGR of Auto-graded
Georgia in that year? . luwl wje 6 287 &g g« b>)g>
30 b .2008 ple o 10 Slwgll Jamog 11 adlgall Jamo o8
Soladl ey o biygxd wilBud] gl Jaso

1 percent v

1.1 percent.

0.11 percent

11 percent.
34. Which part of the graph indicates the carrying capacity 0 /Opts
of the habitat? 8)1al (J| yuin Gilwl awyl o g2 ol Auto-graded
SLigel) duleuiw)l

Population Changes Over Time

Population size

Time



35. Which limiting factor is dependent on the density of the 0 /Opts
population? ¢ Bl &lS (de iy Sl daxall Joledl o Auto-graded

contagious fatal virus.sase Jils jugyus. v

dumping toxic waste in a river.,gill (6 doludl OUlaill clal].
heavy rains and flooding.5llauyallg 85 31 5 Uao .

widespread forest fire.gwlg Gloi e LIl &y

36. If a population grows larger than its environmental 0 /Opts
carrying capacity, then o JSI gody Bl ac o8 13] Auto-graded
diud| dulseyiwV1 8,08]l .

death rate may rise bl gl Jaso gajy a8 v

death rate may fall significantly JSuiu Obogll Jamo joaxiy 19
Bgo=lo

birth rate may rise significantly. JSuiu adlgedl Jase gaiy a5
Bg=lo.

immigration rate may increase ddslaJl 8y=gll Jaso 33 18

37. What does the term carrying capacity describe? I3l 0 /Opts
§ dylewiw)l 8)a8)l ddlhuoe oy Auto-graded

The maximum number of birth rates for a population.a=Jl
o) adlgall SV ass das) (asll.

The ability of a population to accept new immigrants.s,3s
3l gy yelgedl Jgus e oSl

The ratio of birth rates to death rates in a population.diuws
ol o Sl gdl BVa=e (Il sdlgell BV ise.

The population size that the environment can sustain ax>
did! ade bl ol (Sey sill o8udl



38. describes the relative numbers of organisms of each age
within a population and is often represented by a
graphdy yac @6 JS 6 dusdl SWIKLY duuuil] slacll cauny
il oy aling bo Wleg + lSal o

age structure diagram osdl Sl bhhso v
population growth rate ilSuudl goidl Jaso

demographic transition Sl Jg=ill

fertility rate 4 g0zl Jaso

39. Countries with high growth rates usually have an age
structure that hasle 85le dwajyell goidl GVa=o OI3 laddl

Syec Sy lgd yosu
more older people than young people wluidl ;o _,.'i'Si oudl LS

an even distribution over all ages jlacVl graz) sgluwio g4
more younger people than older people. judl jUS o Ll _).le v

more middle-aged people than younger people.caaiio o J.'i'Si
Oluid] o yesdl.

40. The invention of agriculture dclyyl o jghnillg paaill

led to an increased birth rate and death rate.Jazs 8305 wJl ol
Sl gl Jamog adlgall.

provided a more dependable food supply.dslic Olslae] Cwas

lgale slaicVl oSy

allowed people to settle down in villages.l}aiwVl Gulil zow

Syl 8.

all of the above dxu=o Ol JS

0 /Opts
Auto-graded

0 /Opts
Auto-graded

0 /Opts
Auto-graded



41. Lower death rates in the 1700s resulted from s lazil aii
o< pie el oyall o Syl DVise

new scientific knowledge of the causes of disease.diolc dsy20

voyall Oluwl 83>,

better use of coal and electricity.axall JunsVl plsziw)]

cbygsls.

the Industrial Revolution.dscliall §,4il.

all of the above. dxu=uo @IS

42. what is the type of dispersion Jsuidl o g1j5il g5ilo

e

uniform alAiie
clumped LSy

random (Jlguirc

all of the above

0 /Opts
Auto-graded

0 /Opts
Auto-graded



43. what is the type of dispersion Jsuidl o g1j5dl £gilo 0 /Opts
Auto-graded

* o = -
-
- - -
® e o
Wi
- - -
uniform aliie v
clumped Jiss
random Jlguirc
all of the above
44. what is the type of dispersion Jsul o gj5Ul g4ilo 0 /Opts
Auto-graded
eo_o® > e ®
- - - e
-s
* .0
--
-se ..
- .-=
S ./
uniform alAiie
clumped Jisi v

random (lguinc

all of the above



45. Any factor in the environment that does not depend on
the number of mem-bers in a population per unit area

JSJ gaizall (6 clacll sac (e aaisy ¥ il (b Jole gl
d.>Lu.LoOJ_>9

density-independent factor dslisJl (Je seisy V Jole v
density-dependent factor dsUisJl e snisy Jole

biotic factors sgu> Jole

predation Gulyis)l

46. Any factor in the environment that depends on the
number of members in a population per unit area sl

JSJ gaizall 6 cbacll sac (e saizy &l 6 Jole
d>luo 5_&7_9

density-independent factor dslisJl de seisy V Jole
density-dependent factor & UsJl yde swisy Jolc v/

biotic factors sgu> Jole

storms canolg=ll

47. density-dependent factor dsUsJl Je iy Jole

disease oyl
predation GulyisVl

parasites Oldyalnll

all of the above uw bo guo> v

48. density-independent factor &slisdl (e snisy N Jole

disease oyl
predation Lulyis\l

parasites Oldialll

temperature &,l,=l v

0 /Opts
Auto-graded

0 /Opts
Auto-graded

0 /Opts
Auto-graded

0 /Opts
Auto-graded



49. The study of human population size, density, 0 /Opts
distribution, movement, and birth and death rates d.wly> Auto-graded

SVasog 83Vg)lg 45y2dlg &1 3gillg d5LiSUlg oSall azm
5lo gl

demography i8Sl cbosMI ale v

Ecology diull
ecosystem il o Uaill

physiology cLoc)l cailbg ple

50. change in a population from high birth and death rates 0 /Opts
to low birth and death rates OViso (o Bl o jusill Auto-graded
Slboglly adlgedl OVamoe (J| dnaiyell S gllg adlgall
i Adsiall

demographic transition. ¢Sl Jg=ill v

demography b8l cbosMI ale

change season puwlgall i

Population Growth Rates (ilSud! goill Jaso

51. occurs when births plus immigration equals deaths plus 0 /Opts
emigration. gedudsl]l 8 =gllg adlgall $Sglui boaic Gaxy Auto-graded
du>) Bl 8=l I dslo VL Slsgll.

Zero population growth dclazl) sya.0ll gaill v

high population growth (Jl=Jl gaill Jaso
low population growth jadxie gedl Jise

demographic transition. (Sl Jg=il



52. what is the type of human population growth in this 0 /Opts
figure Jsul 13 (o il gaill goi g Lo Auto-graded

Male Female

6 4 2 0 2 4 6
Percent of population

negative growth v

rapid growth
slow growth

all of the above



53. what is the type of human population growth in this 0 /Opts
figure Jsul 13 (o il gaill ggi g Lo Auto-graded

Male Fomale

0 8 6 4 2 0 2 4 6 8 10
Percent of population

negative growth quludl goill

rapid growth & jull gaill v

slow growth ol godll

all of the above



54. what is the type of human population growth in this 0 /Opts
figure Jsul 13 (o il gaill ggi g Lo Auto-graded
Male Female

6 4 2 0 2 4 6
Percent of population

negative growth quludl goill

rapid growth & jull goill

slow growth (ol goill v

all of the above



55. compare between r and K-strategy du=uilyiwl (w6 rgK 0 /Opts

Auto-graded
r-strategy k- strategy

organism

size @ O

small o>

using

high

energy

ling O ®
b

8,

parental

care dlc, O @

Hluall
long life

cycle 8,95
Lo O ®
dyob

fast
develop

ment @ O
ssbll
& gl

many

b8

few

e O ®

s

56. Question 0 /Opts

. Auto-graded
Option 1

Option 2



